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(4x+2)dx (1)
4x+2)dx=2x2+2x+C)[
(2x—4dx (2]
2X—4dx=—-23x3+C/[
(6x2—4x)dx (3)[
6x2—4x)dx=2x3-2x2+C)|
(x—2x5)dx (4-3)/
X—2x5)dx=3x-12x2-13x6+C-3)[
(x—=2+x5/2)dx (5)]
X—=2+x52)dx==x—=1+27x72+C)[
(3x2—2x2)dx (6)]
3x2—-2x2)dx=x3+2x+C)|
(3x=24+6x—1/2+x—-4)dx (7)]
3X—=24+6X—12+Xx—4)dx=—3x—-1+12x12+12x2—-4x+C)[
(10x4+8x—3)dx (8)[
10x4+8x—3)dx=2x5—-4x—-2+C)/
(2x3—-3x)dx (9)[
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2X3—3x)dx=[(2x—3—-3x12)dx=—x—2-2x32+C=—-1x2-2x3+C)[
(8x3+6x—4x)dx (10)]

8x3+6Xx—4x)dx=[(8Xx3+6Xx—4x—12)dx=2x4+3x2—-8x12+C=2x4+)]
3x2—8x+C

(7x2+x43)dx (11)f
Tx2+x43)dx=[(7x—2+x43)dx==7x—1+37x73+C=-7x+37x73+C)[
(x23+3x2)dx (12)]
x23+3x2)dx=[(13x2+3x—-2)dx=19x3-3x—-1+C=19x3-3x+C)J

Y] eMolSHl o WS 2zl
(4+2xx2dx (13]

442xx2dX=[(4x2+2xx2)dX=[(4X—=2+2x—32)dX=—4x—-1—-4x—-12+]
C=—4x—-4x+C

(x22+xdx (14-4f
X22+xdx=[(2—x)(2+x)2+xdx=[(2—x)dx=2x—-12x2+C—-4]
(x2—1x2dx (15]
X2—=1x2dx=[(x2x2—-1x2)dx=[(1—-Xx—2)dx=X+X—1+C=x+1x+CJ
(xxdx (16]

xxdx=[x32dx=25x52+C=25x5+C|

(x2—=1x-1dx (17f
x2—=1x—-1dx=[(x—1)(x+1)x=1dx=[(x+1)dx=12x2+x+C]
(x2(1—=x3)dx (18]
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X2(1—x3)dx=[(x2—x5)dx=13x3-16x6+CJ
(x+4)2dx(19)[
X+4)2dx=[(x2+8x+16)dx=13x3+4x2+16x+C)|
(xx5dx(20-5f

xx5dx=[(5x5—-xx5)dx=[(5x—5—x—4)dx=—54x—4+13x-3+C=—-5]
54x4+13x3+C

(X24+2x+1x+1dx(21]
X2+2x+1x+1dx=[(x+1)(x+1)x+1dx=[(x+1)dx=12x2+x+C[
(x(x+1)2dx (22f

X(X+1)2dx=[x(x2+2x+1)dXx=[(x3+2Xx2+Xx)dx=14x4+23x3+12x2+[
C

(x+3)2xdx(23)]

X+3)2xdX=]X2+06X+9Ixdx=[(X2X+6XxX+9x)dx=[(x32+6x12+9x12))/
dx=25x52+4x32+18x12+C

(x=5)(x+5)dx(24)
X=5)(x+5)dx=[(x2—25)dx=13x3-25x+C)[
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